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R(z,y) 2y — /a2 + (y—b)? —a=0
(a, b IZEE)
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(1) R(z,y) D—B&lR5 R, £ OR/0x, R, = 0R/0y %R k.

(2) R(z,y) D BRI Ry £ 0°R/022, R,y 2 0°R/0xdy, Ry, 2
0R/Oydx, R,, = 0ROy &k k.
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mi = AR,
my = AR,
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9 3 —-12 -3
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(1) 175l AD IV AF—fif% KD XK.
(2) fTHl A% IV AF =R U745 R %2 VT, #—RARERX
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R(z,y) & \/(x +a) + (y —0)? —/(z —a)? + (y — 0)? —2¢ =0

(a, b, c lFIEDEH. —a<c<a)

RizhliE s, MFORWIZEZ L. (8 K)

(1) R(z,y) D—B&RSS R, £ OR/0x, R, 2 0R/0y %R k.

(2) R(z,y) D WERMS Ry £ 9°R/022, Ry, 2 0°R/0xdy, Ry, 2
0*R/0ydx, Ry, = 0°R)0y? %KD k.

(3) MR DOREZE NTRT L, HAOEE LA
mx = AR,
my = AR,
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